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And we have established that he is not both flogged and made to pay

Overview'

Our mwn states that \MINR %Y X277 must pay 01p, and in M>» '0n the miwn states that
ININR HY X277 receives Mpn. However there is a rule that 22wm 7717 1°X so how can
he receive npn and pay. The issue in this M90IN is whether the question is why is
he 719, or why is he obwn.
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It appears to the >''9 that the X723 is not asking on the 71w there in n1on 'on,

why is he ;7219 since he pays 01p; that is not a question -
- A N Snmony ‘naa 19 *oap X2 MPYn NY NNOWNT NVIW NIT

For it is obvious that we can find a case where there is mpb» without zap (by
MR Yy X2a7), for instance is she was a na32 and she was seduced, or she had

prior relations -
- 7551 RINT 119 D3P BYUN NN 1YY NIUP PIINNN RIN

Rather the question is on our mw» here; why does he pay ©ip, since there is
NP7 for having relations with 1mnx, and the rule is 29wn 712 1K —

mMpoIN responds to an anticipated difficulty:®
= IVUPNT NINYT XPIODT 9129127 1382 N2 19N XY 199N

And even if it is a case where they did not warn him, nevertheless the Xn3 still
has a valid question, for we can say that the questioner assumed -

! See ‘Overview’ to previous >1n71 "7 (2,89) ‘0N,

2 We cite the marginal note, which quotes from the o> nwoIN as follows; X7 7% XWP XY PROINART RIDR IR
X°M17 7712 ONT ORT D YAWAT a0 KRR 700 XWp 71NN RAOR R7X ,7°m9WnT NN PIRY 2200 XAp °27 K7 ,awnT
TM02 °"7 WD NN "2 oown SRIR 11NN 72757 Y KRR 1M ,1°N°1NNT.

? See ‘Thinking it over’ # 1.

* A n7a is a woman who is passed the stage of a 771 (she is more than 12 and a half years old). The punishment of
o1p is for a 77¥1 but not for a N2,

> If one was DIXD (raped) a n7a2 there is no 03p; however there is payment due to her for 391 nw13; however if it was
consensual (a 7Man — seduced) there is no payment at all

® There is 037 if one was 01X a 72103, but not a 72W2.

" There is (always) a mpon 2 for WK 2y 837 regardless whether she is a 79102, a 723, or a NN, etc., So how
can he ever pay dip since D2wm 71?2 1°X. See “Thinking it over’ # 2.

¥ Seemingly we can answer the reason he pays 03p is because there was no %07, no one warned him, before the act
that he will receive mp%», and therefore since there is no Mp%», he is required to pay the 01p; so what is the question
on our mIYN?!
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That those who are liable for nip%» are exempt from payment even if they

transgressed inadvertently -
- 555 N9Y D5YWM NINNT 12 19NN 1IN PIINDT NI 53UN)

And Xy answered that our 71w» may be even discussing a case where they
warned him but nevertheless the rule is that he pays the money (the 01?) but

does not receive mps» -
- %42 9901 X932 5999197 5w 13Ny a9

And %''9 answers that our 71wn is discussing a case where he was not warned

and therefore he is required to pay since there is no NP -
A PATS ] 131’2”!‘\ DNY NOPIN S39NYT 119D NHONT NINYLY DITNY

And >"1 follows his reasoning, for he maintains the 27331 nypY» 5251 are liable
for payment.

Summary
The question is on our 7Iwn why does he pay 01p since there is (always) a 21m

mphn. X9 answers that by mp2m1 1mn he pays, and 331 ' answers that there is no
nIpon, since there was no XIN1.

Thinking it over
1. mooin states that there is no difficulty with the 7iwn in m>n (where it teaches

that 1NITR H¥ X237 receives MpYn) because that 71wn is in a case where there is no
1mn 210 (like a nAava, etc.)."* However even in those cases there is still a 7mn 1m0
for 0a1 N3, so why does he receive mphn?

? We know that one who commits a capital crime is not liable to pay for any monetary damage he caused while
committing this capital crime (for instance he burned his friend’s grain on naw). This exemption from payment
applies even if the person will not be liable for capital punishment, because he was a 33w. We can assume that this
1wpn here assumed that the same rule applies for 22wm 717 1K that if he committed a crime which requires mp9n,
he will be exempt from paying even if he did the crime 3123, so he will not receive mpon.

19 X9 maintains that when there is both a 03p 21 and a Tvn 2vn, he is obligated to pay, but will not receive npon.
Therefore in our mwn (even though there is a Mp?» 20, nevertheless) he pays and is exempt from NpHn. The mawn
in N7 is in a case where there is no 11 2117 (by a 1712, etc.), as the "1 explained previously.

' See 2,75.

125" argues with X7 and maintains that when there is a NP arn and PmPwn he receives Mpon (and is WD
Pr2wnn), and our mIwn is in a case where there is no MpYn 21°1; he was not warned. Therefore he pays the 01p. The
7awn in Mon is in all cases even when there is a 03p 21°1, but nevertheless he is 22wn 1R 717.

" It is only by 21w an>» *2n that he is 1w from payment but not by D33 n»pon *20n.

' See footnote # 3.
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2. moon states that the question is on our Mwn (why does he pay 01p since there is
a mpon 21n)," but the 71wn in Non is discussing a N33, where there is no o3p. It is
therefore difficult to understand s'®7Y answer of N2 INITRA XD 7V NN IRD;
how does that answer the question; we assumed it in the question as well; X7
should have answered, °P% X% Xp?on 2Hwn X117 ,MP20R1 1110 RIPRT 87 957!

15 See footnote # 7.
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